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JUMBLED PRAGRAPH 1 

 Directions (1-5): Rearrange the following six sentences 

(A), (B), (C), (D), (E) and (F) in the proper sequence to 

form a meaningful paragraph ; then answer the questions 

given below them. 

1.(A) The Reserve Bank of India (RBI), which had last 

intervened in the foreign exchange market in June 

2009, was seen buying dollars to stem the rupee’s 

runaway appreciation. 

(B) The bank had for so long resisted a rate increase, but 

finally toed the line of other banks as its cost of funds 

has gone up. 

(C)  The local currency recently rose to a 25-month high 

against the dollar on sustained capital inflows. 

(D) Some interesting things have happened in the Indian 

financial system in the past few weeks. 

(E) The RBI also announced a Rs. 12,000 crore buy-back 

of government bonds from the market to infuse money 

into a liquidity-starved banking system. 

(F) Finally, the State Bank of India, the nation’s largest 

lender, has rasied its minimum lending rate, or base 

rate, by 10 basis points.(One basis point is one-

hundredth of a percentage point) 

1. Which of the following would be the THIRD 

sentence? 

 (a) B (b) A 

 (c) D (d) E 

 (e) F 

 2. Which of the following would be the SIXTH 

(LAST) sentence? 

 (a) B (b) C 

 (c) D (d) E 

 (e) A 

 3. Which of the following would be the SECOND 

sentence? 

 (a) A (b) C 

 (c) D (d) E 

 (e) F 

 4. Which of the following would be the FOURTH 

sentence? 

 (a) B (b) C 

 (c) D (d) A 

 (e) E 

  

5. Which of the following would be the FIRST sentence? 

 (a) B (b) C 

 (c) D (d) E 

 (e) F 

  

JUMBLED PRAGRAPH 2 

 A. The basic infrastructure at various branches / offices, at 

present, however, is not capable of supporting such 

system, which is dependent upon sophisticated 

communication system integrated  

With computers 

B. Electronic fund transfer mechanism involving 

interbank funds settlement at the national level has 

come up only recently as an aftermath of the 

recommendations of the Saraf Committee on 

technology issues in the payment and settlement 

system constituted by the RBI in 1994. 

C. It had suggested that high-value institutional funds 

transfer should be batched every hour. 

D. The Saraf Committee had suggested a hybrid 

system, both paper and electronic media, for message 

transmission. 

E. Electronic fund transfer facilitates quick movement 

of funds through electronic media. 

F. Due to these factors, the EFT system introduced by 

the RBI is largely built around the existing 

infrastructure for cheque clearing 

1. Which of the following will be 

the SECOND sentence after rearrangement? 

a) A b) C c) E d) B e) D 

2. Which of the following will be the LAST 

(SIXTH)  sentence after rearrangement? 

a) C b) A c) F d) E e) B 

3. Which of the following will be the THIRD sentence 

after rearrangement? 

a) B b) F c) A d) C e) E 

4. Which of the following will be the FIFTH sentence after 

rearrangement? 

a) E b) D c) B d) A e) F 

5. Which of the following will be the FIRST sentence after 

rearrangement? 

a) F b) B c) D d) C e) E 

 

JUMBLED PRAGRAPH 3 

A. If the balance is insufficient to cover the debit, the 

difference becomes payable immediately or else a service 

fee is levied 

B. Debit cards are the same as credit cards 

C. Quite obviously, a debit card may not be the appropriate 

card for those who would like to have a credit 

D. If the amount payable is overdue for a long period, the 

card may be cancelled. 



 

 

E. As the transaction in the debit card are debited to the 

account instantaneously, they are relatively less risky to 

banks than credit card. 

F. The only difference in this card is that the amount of 

dues from the cardholder for each and every transaction is 

debited to cashholder’s account as soon as each transaction 

is notified to the issuer. 

G. This has however an advantage in the sense that it 

replaces the requirement of carrying cash or cheque book, 

when the transactions are being carried out. 

6. Which of the following will be the FIRST sentence after 

rearrangement? 

a) G b) B c) D d) C e) A 

7. Which of the following will be the SECOND  sentence 

after rearrangement? 

a) A b) C c) E d) F e) B 

8. Which of the following will be the THIRD sentence 

after rearrangement? 

a) A b) B c) G d) E e) C 

9. Which of the following will be the FOURTH sentence 

after rearrangement? 

a) C b) E c) D d) B e) F 

10. Which of the following will be the LAST 

(SEVENTH)  sentence after rearrangement? 

a) B b) A c) G d) F e) E 

 

JUMBLED PRAGRAPH 4 

(A)If China is the world’s factory, India has become the 

world’s outsourcing centre –keeping in line with this 

image. 

 (B)But India’s future depends crucially on its ability to 

compete fully in the Creative Economy – not just in 

tech and software , but across design and 

entrepreneurship :arts, culture and entertainment –and 

the knowledge based professions of medicine, finance 

and law. 

 (C) While its creative assets outstrip those of other 

emerging competitors, India must address several 

challenges to increase its international competitivenss 

as the world is in the midst of a sweeping 

transformation. 

 (D) This transformation is evident in the fact that the 

world is moving from an industrial economy to a 

Creative Economy that generates wealth by harnessing 

intellectual labour, intangible goods and human 

creative capabilities. 

 (E) Its software industry is the world’s second- largest, 

its tech outsourcing accounts for more than half of the 

$ 300 billion global industry, according to a technology 

expert. 

 (F) If the meeting of world leaders at Davos is any 

indication, India is rapidly becoming an economic 

‘rock star’ 

1 Which of the following should be the SIXTH(LAST) 

sentence after the rearrangement ? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

2 Which of the following should be the THIRD sentence 

after the rearrangement? 

 (a) A (b)B 

 (c) C (d) D 

 (e)E 

3 Which of the following should be the FIFTH sentence 

after the rearrangement? 

 (a) A (b)B 

 (c) C (d) F 

 (e) E 

4 Which of the following should be the FIRST sentence 

after the rearrangement? 

 (a) F (b)B 

 (c) C (d) A 

 (e) E 

5 Which of the following should be the SECOND 

sentence after the rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e) F 

JUMBLED PRAGRAPH 5 

 

 (A) With this continuous intervention, it is expected 

that BBS programmes will not only improve safety 

performance but will also have a positive effect on fuel 

consumption and other related costs. 

 (B) This influence is not intended to be a one-off 

exercise, but it and BBS should rather become a 

continuous effort by every transport company. 

 (C) Finally, in the long run it will improve the total  

cost-effectiveness of the transport companies. 

 (D) Behaviour Based Safety (BBS) is a programme 

that aims at increasing safety during road freight 

transport by positively influencing the behavior of 

drivers. 

 (E) This is based on the assumption that, the behavior 

of drivers can be influenced through observation, 

coaching and communication. 

1. Which of the following sentence should be the 

SECOND sentence after rearrangement? 

 (a) E (b) D 

 (c) C (d) B 

 (e) A 

 2. Which of the following should be the FOURTH 

sentence after rearrangement ? 
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 (a) A (b) B 

 (c) C (d) D 

 (e) E 

 3. Which of the following should be the FIRST 

sentence after rearrangement ? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

 4. Which of the following should be the THIRD 

sentence after rearrangement? 

 (a) E (b) D 

 (c) B (d) C 

 (e) A 

5. Which of the following should be the FIFTH(LAST) 

sentence after rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

JUMBLED PRAGRAPH 6 

 

. (A) However, many people may not be aware of the 

numerous other areas where it has been applied. 

 (B) Today, even, those who have little knowledge 

about the production of virtual reality are now most 

lkely aware of its use in video games. 

 (C) Similarly, medical students have substituted a 

cadaver for a fiberglass mould of a body and a headset 

when training to perform surgery. 

 (D) Virtual reality was an unfamiliar concept to many 

people till the early 90’s. 

 (E) Introducing virtual reality to the real world, thus, 

has already proven to be beneficial for every industry it 

ecounters. 

 (F) For example, astronaut trainees  have recently used 

virtual reality to simulate a trip to space. 

1. Which of the following should be the FOURTH 

sentence after rearrangement? 

 (a) E (b) F 

 (c) A (d) D 

 (e) B 

                                                                         

2. Which of the following should be the FIRST sentence 

after rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

 3. Which of the following should be the 

LAST(SIXTH) sentence after rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

 4. Which of the following should be the SECOND 

sentence after rearrangement ? 

 (a) B (b) C 

 (c) D (d) E 

 (e) F 

  

5. Which of the following should be the FIFTH sentence 

after rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e) E 

JUMBLED PRAGRAPH 7 

(A) To elaborate briefly on these characteristics and 

dimensions that the authority is talking about - NRMs are 

general tests intended to be used to classify students by 

percentile for measuring either aptitude or proficiency for 

admission into or placement within a programme. 

(B) Contrastingly, the CRM, such as a locally produced 

achievement test, measures absolute performance that is 

compared only with the learning objective, hence a perfect 

score is theoretically obtainable by all students who have a 

mastery of the pre-specified material, or conversely, all 

students may fail the test. 

(C) In most of these books, the authors classify a 

measurement strategy as either norm- referenced (NRM) or 

criterion referenced (CRM). 

(D) Another author points out how the type of 

interpretation that an NRM offers is the relative 

performance of the students compared with that of all the 

others resulting in, ideally, a bell curve distribution. 

(E) Numerous books on constructing and using language 

tests have been written by various authors. 

(F) CRMs, on the other hand, are more specific, 

achievement or diagnostic tests intended to be used for 

motivating students by measuring to what percent they 

have achieved mastery of the taught or learned material. 

(G) One of the authors clearly delineates the differences of 

these two types by focusing on the categories of "test 

characteristics" and "logistical dimensions". 

6. Which of the following should be the FIRST sentence 

after rearrangement?  

(a) A   (b) B   (c) D   (d) E   (e) C 

7. Which of the following should be the LAST sentence 

after rearrangement?  

(a) B  (b) E   (c) C    (d) A   (e) D 

8. Which of the following should be the FIFTH sentence 

after rearrangement?  

(a) D  (b) B  (c) C    (d) E   (e) F 

9. Which of the following should be the SECOND 

sentence after rearrangement?  

(a) C  (b) A  (c) D    (d) G  (e) B 

10. Which of the following should be the THIRD sentence 

after rearrangement?  

(a) E  (b) C  (c) G    (d) D   (e) A 

JUMBLED PRAGRAPH 8 



 

 

 

A)Ironically, the same parents who are considered to be 

ignorant are thought to be very enlightened in choosing 

private schools over state-run ones. 

B)This is all the more reason why we should include them 

during the planning and implementation of the system. 

C)This is apparent at every stage from policymaking to 

implementation as critical decisions are made without the 

participation of the stakeholders,an attitude that can only 

be described as either arrogance or indifference. 

D)In reality, every parent decides which school is a good 

one, based on his/her own set of values, perceptions and 

aspirations. 

E)The root cause of most of the ills that plague our 

education system is the enormous distance that separates 

the power centres within the system and the schools where 

the action takes place. 

F)It is often said in defense of such an approach that poor 

parents are too ignorant to be the partners in a meaningful 

dialogue. 

41. Which of the following will be the Fourth sentence? 
(A) A  (B) B  (C) C  D) D  (E) E 

 

42. Which of the following will be the First sentence? 
(A) F  (B) D  (C) E  (D) B  (E) A 

 

43. Which of the following will be the Last sentence? 
(A) F  (B) D  (C) C  (D) B  (E) A 

 

44. Which of the following will be the Third sentence? 
(A) A  (B) B  (C) C  (D) F  (E)  E 

 

45. Which of the following will the Fifth sentence? 
(A) B  (B) A  (C) C  (D) D  (E)  E 

JUMBLED PRAGRAPH 9 

 

 (A) While the reference point for the former is the 

state, for the latter it’s society. 

 (B) India’s strategic community’ comprises two 

distinct circles with little overlap. 

 (C) Consequently ,mainstream strategists have an 

external orientation to their discourse, concentrating on 

high politics; the latter is more internal oriented. 

 (D) Their prescriptions too are understandably poles 

apart and thus, the state, to which both their 

commentary is directed, has to play balancer, and ends 

up being at the receving end of criticism from both 

sides. 

 (E) Out of the two, one can be termed the ‘mainstream’ 

and the other ‘alternate’ 

 (F) To further elaborate on the external and internal 

concept- while one is enamoured of India’s rise and 

place in the global order, the other is more sensitive to 

its vulnerabilities and inadequacies  

16. Which of the following should be the FOURTH 

sentence  after rearrangement? 

 (a) E (b) D 

 (c) C (d) B 

 (e) A 

17. Which of the following should be the SIXTH sentence 

after rearrangement?  

 (a) A (b) B 

 (c) C (d) D 

 (e)E 

18. Which of the following should be the SECOND 

sentene after rearrangement? 

 (a)E (b) D 

 (c)C (d) B 

 (e) A 

19. Which of the following should be the FIRST sentence 

afte rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e)E 

20. Which of the following should be the THIRD sentence 

rearrangement? 

 (a) A (b) B 

 (c) C (d) D 

 (e)F 

 

Solutions: 

JUMBLED PRAGRAPH 1 

The correct sequence is DCAEFB 

JUMBLED PRAGRAPH 2 

The correct sequence is EBAFDC 

JUMBLED PRAGRAPH 3 

The correct sequence is BFAGCDE 

JUMBLED PRAGRAPH 4 

The correct sequence is FAEBCD 

JUMBLED PRAGRAPH 5 

The correct sequence is DEBAC 

JUMBLED PRAGRAPH 6 

The correct sequence is DBAFCE 

JUMBLED PRAGRAPH 7 

The correct sequence is ECGADFB 

JUMBLED PRAGRAPH 8 

The correct sequence is ECFADB 

JUMBLED PRAGRAPH 9 

The correct sequence is BECDAF 

 

  


